WYKAZ POSZE:

Ltn. naw. niyone ode A3

B :{11:: Hei::- Szer:,kosc us:::;;‘é Odl::losc mu‘ritlm Szerokosé szs::il::;c mle.r:chlla S
m: m
sty Zeara = 5fﬁTQL¢¢L
0 0,40 ; 0,40
09 040 400 4o s 40
e 00 940 040 |
- = 040 | 400 4o 0,40 40
0,40 0,40
3 102 040 | 400 | 4o d4o | 4o
0,40 ; 0,40
800 ’ 6,40 400 40 e 040 | 4o
o e o s e —
E 040 | q00 | 4o : 0,40 40
4 | 000 | 040 )
3 e | Mo s e 042 | 4z
ke 400 0,45 o4L5
""" 0,47 400 47 0,437 47
200 | 050 g0 | e e e
0,43 100 h? A 0,47 43
3 300 | 045 : 045
e Tl 043 | 00 43 i 043 | y3
| 400 0,40 0,40
o v By 042 100 42 i 9%z | 42
500 0,48 ; O 2
: : 0,‘15 400 . 45 T 0145 ; 1'5
E 1 600 | Ok% : ous
I 0,23 400 27 < 4,07 102
700 = , 430
1 6020 | 40 20 . 1495 | 105
o | Boo 940 : 049
=t 040 | 9275 | 40 & 910 71
822.54| 040 0,40 ;
B Oko | 22,46 | 29 040 | 29
900 | 040 040
0,40 100 40 040 40
2 |ooo o40 vl 0.40 -
= 0.40 100 Lo 0,40 40
040 : , 040
1% 8,40 | 100 40 - o040 | 40
ot 200 | 040 0,40
0.40 100 40 0,40 40
J00 | 040 0,40
i 040 | 400 4o ' 0k | 4o
400 | 040 0,40
0,40 100 4o - 040. | Yo
5600 | 040 0,40
— 040 | 400 40 oko | 40
600 | 0,40 0,40
; 040 | 400 40 040 | yo
& 7200 | 0,40 0,40 =
40 A00
800 | g4o y 40 9,40 040 | 4o
= 200 | o40 0,40 100 40 0,40 0,40 40 -
0,40 0
L 000 0,40 7 - ha 0,[70 0)‘/0 HO 8
= RAZEM- 949 CHZEM- 1118
LRCZNIE  — 20630



